Prescribed by Secretary of State
Section 67.004, Texas Election Code
3/07

CANVASS OF GENERAL ELECTION

I, Jodi Morgan, County Clerk of Milam County, Texas, met with the
Commissioners Court sitting as the canvassing board to Canvas the General
Election of November 2, 2021 on November 15, 2021 at the Courthouse, Cameron,
Texas.

I certify that the figures on the tally sheets correspond with the figures on the

returns.

Witness my hand this 15" day of November, 2021.

del UACGIL

Presiding O f cer of Canvassing Authority

3 JODI MORGAN
County Clerk



COURT ORDER

97

STATE OF TEXAS §
COUNTY OF MILAM §

BE IT REMEMBERED, at a meeting of the Commissioners Court of Milam County,
Texas, held on the 15" day of November,2021, on motion made by:
(:O\W\m\‘ SS\ OHJW W{'m@ , and seconded by

(:DW\W\‘ KSJ DMY \\}M\J 4 , the following Order was adopted:

WHEREAS, THE MATTER TO BE CONSIDERED IS THE CANVASSING OF THE
RESULTS OF THE CONSTITUTIONAL AMENDMENT ELECTION HELD ON

NOVEMBER 2, 2021, for the purpose of deciding eight propositions RESULTS BEING
AS FOLLOWS:

SEE ATTACHED COPY

WHEREAS, the Commissioners Court wishes to ratify the appointments made by and
the actions taken by the Milam County Clerk with respect to the Election; and

IT IS THEREFORE ORDERED, ADJUDGED AND DECREED by the Commissioners
Court of Milam County, Texas, that the returns be certified and reported to the Texas
Secretary of State in accordance with the Texas Election Code and the actions taken by
the Elections Administrator are hereby ratified and affirmed.

DONE IN OPEN COURT this the 15t ovember, 2021.

Steve Young
Milam County Judge
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~~Henry “ Donald Shuffield! D
Commissioner PCT #1 Commissioner PCT #2
Mg/ o B s Y
Aft Neal ~~  AeffMuegge ~ !
Commissioner PCT #3 Commissioner PCT #4

Attest l%dl U )

Jod/Morgan, Milam Cq‘y)wty Clerk
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